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khfhzf;fy;tpj; jpizf;fsk;  tzpff;fy;tpAk; fzf;fPLk; 

,uz;lhk; jtizg; guPl;ir- 2018 

juk; 11 

 

Gs;sp toq;Fk; jpl;lk; 
gFjp 1 
 

 
 

 
 

 

          (40×1=40 Gs;spfs;) 

tpdh ,y 01 
1. m) gq;Filik tzpfk; my;yJ jdpahu;Jiw tzpfk; my;yJ ,yhg Nehf;Fila tzpfk; 

             (1/2  Gs;sp) 
tha;g;G:- tzpfk; ,aq;Fk; #oypy; trjp gilj;j kf;fs; fhzg;gly;    (1/2  Gs;sp) 

   M) cupikahsupd; ngaupyd;wpf; fhzg;gLtjdhy; ,t;tzpfj;ij 1918 Mk; Mz;L 6 Mk; 
,yf;f tpahghug; ngau; gjpTf; fl;lisr; rl;lj;jpd;fPo; gjpT nra;jy; Ntz;Lk;.(01 Gs;sp)    

2. m) fhNrhiy %yk; nfhLf;fy; thq;fy; nra;a Kbjy; 
tq;fp Nkyjpfg; gw;W trjp 
Neub itg;G trjp 
epiyapay; fl;lisfisr; nraw;gLj;jy; 
tq;fpf; $w;iwg; ngWjy;         (2×1/2=01  Gs;sp) 

   M) rupahd jpfjpaply; 
 nfhLdupd; ngaupid njspthd vOj;jpy; vOJjy; 
 ,yf;fj;jpYk;> vz;zpYk; rupahd ngWkhdj;ij vOJjy; 
 tiugtupd; ifnahg;gj;ij rupahf ,Ljy;  
 mb ,jopy; Fwpj;j Njitahd jfty;fisg; G+uzg;gLj;jy; 
 fhe;jikg; Gyj;jpy; vJTk; vOjhJ tply; 
 nghUj;jkhd tifapy; FWf;Ff; Nfhbly;       (2×1/2=01  Gs;sp) 
3. m) mD$yq;fs;:- 

1) ,yFtpy; Muk;gpf;f Kbjy; 
2) mjpf %yjdj;ijj; jpul;l Kbjy; 
3) gy;NtWgl;l jpwd;fisg; gad;gLj;j Kbjy; 
4) nghWg;Gf;fis gfpu Kbjy; 
5) $l;lhfj; jPu;khdk; vLj;jy;         (1×1/2= 1/2 Gs;sp) 

gpujp $yq;fs;   

tpdh 
,y 

tpil 
,y 

tpdh 
,y 

tpil 
,y 

tpdh 
,y 

tpil 
,y 

tpdh 
,y 

tpil 
,y 

01 3 11 1 21 1 31 3 
02 1 12 4 22 2 32 4 
03 1 13 1 23 2 33 1 
04 3 14 2 24 4 34 3 
05 1 15 3 25 2 35 2 
06 2 16 3 26 3 36 2 
07 2 17 4 27 1 37 1 
08 4 18 3 28 4 38 4 
09 3 19 1 29 2 39 2 
10 4 20 4 30 2 40 2 

ghl ,yf;fk; 60 
tzpff;fy;tpAk; 

fzf;fPLk ; 
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1) tiuaiwaw;w el;lg; nghWg;G 
2) ,yhgk; egu;fSf;fpilapy; gfpug;gly; 
3) Kuz;ghLfs; Vw;gl Kbjy; 
4) njhlu;e;J ,aq;Fk; jd;ik ,d;ik 
5) rl;l MSikapd;ik           (1×1/2= 1/2 Gs;sp) 
M) $l;bizf;fg;gl;l fk;gdpfs;          (01 Gs;sp) 

4. m) Nkk;gLj;jy; fyit           (01 Gs;sp) 
M) xOq;fikj;jy; fUkk;           (01 Gs;sp) 

5. m)  cupik +  nrhj;J  = nghWg;G 
100000     100000 
  60000    60000 

  100000  60000   160000       (01 Gs;sp) 
M) fhRf; fzf;F tuT  & 60000 
    tq;fpf; fld; fzf;F nryT  &60000       (01 Gs;sp) 

6. tq;fpf; fld; tl;b  & 500  (01 Gs;sp) 
ngWkhdj; Nja;T  & 500  (01 Gs;sp) 

7. m) ,ae;jpu cgfuzq;fs;   (01 Gs;sp) 
M) tq;fpf; fzf;F tuT 
    fhRf; fzf;F nryT  (01 Gs;sp) 

8.                      fhRf; fzf;F 
    

%yjdk;   100000  kug;gyif> ,Uk;G nfhs;tdT 30000 
tq;fpf; fld; 1/2  60000  ,ae;jpu cgfuzq;fs; nfhs;tdT 50000 
tpw;gid   100000  czT nfhs;tdT   20000  1/2    
       thlif     3000 

      kpd;rhuk;     5000 
      tpsk;guk;     6000  
      tq;fp     20000  1/2 
      tq;fpf; fld; tl;b     500 
      kPjp fPo; nfhz;L nrd;wJ   115500     1/2 Gs;sp  
    260000      260000 
  

9.                            tUkhdf; $w;W 
 

 

tpguk; njhif njhif 
tUkhdq;fs; 
tpw;gid 
nryTfs; 
nfhs;tdT 
czTr; nryTfs; 
thlif 
kpd;rhuk;                             01     
tpsk;guk; 
tq;fpf; fld; tl;b 
ngWkhdj; Nja;T 
Njwpa ,yhgk; 

 
 
 

30000 
20000 
 3000 
5000 
 6000 
  500 
  500           

 

 
1/2  100000 

 
 
 
 
 
 
 
 

(65000) 
½               35000     
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10. tpepNahfr; nryT 
tpsk;guk; 
epUthfr; nryT 
kpd;rhuk; 
thlif 
epjpr; nryT 
tq;fpf;fld; tl;b       (4×1/2=2 Gs;spfs;) 
 

tpdh ,y 02 
1. m) tho;tjw;F fl;lhakhf epiwNtw;w Ntz;baitfs; Njitfs; vdg;gLk;. 

Njitfs; epiwNtw;wg;gLk; gy;NtW Kiwfs; tpUg;gk; MFk;.          (01 Gs;sp) 
   M) rpif myq;fupg;G epiyak;          thfd jpUj;Jkplk; 

Mil ijj;jy;                   itj;jparhiy  
jghy; epiyak;                   rpy;yiw tpahghuk; 
tq;fp 
                              (nghUj;jkhd ,uz;L cjhuzq;fSf;F 01 Gs;sp) 

2.                       (02 Gs;spfs;) 
3. m) Gjpa Ng&e;J jupg;gplk; fhzg;gly;         (01 Gs;sp) 

M) Ng&e;J jupg;gplj;jpw;F mz;ikapy; vjpu;fhyj;jpy; Gjpa tzpfq;fs; cUthf;fg;gly;> 
cztfj;jpw;F Njitahd %yg;nghUl;fis (,urhadk;> eQ;rw;w) ngWtjpy; rpukk; Vw;gly;
             (01 Gs;sp) 

4. 1) gpuNjr nrayhsu; fhupahyaj;jpy; Njrpa milahs ml;ilia rku;g;gpj;J cupa 
tpz;zg;gg; gbtj;ij ngw;Wf;nfhs;sy; 

    2) tpz;zg;gg; gbtj;ij g+u;j;jp nra;jy; 
    3) G+uzg;gLj;jg;gl;l tpz;zg;gg;gbtj;ij gpuNjr nrayhsu; fhupahyaj;jpy; rku;g;gpj;jy; 
    4) cupa jifikfs; fhzg;gLkhapd; gpuNjr nrayfj;jpy; tzpfg;ngau; gjpTr; rhd;wpjo; 

toq;fg;gLk;.        ( G+uzkhd tpilf;F 02 Gs;spfs;) 
              (nkhj;jk; 08 Gs;spfs;) 
 
tpdh ,y 03 
1. m) epu;thfk; fbdkhdJ  

rl;ljpl;lq;fs; mjpfk; 
,yFthf Muk;gpf;f KbahjpUj;jy; 
ngUk;ghYk; el;lj;jpNyNa ,aq;Fjy; 
NritapYs;s Copau;fs; mjpfkhff; fhzg;gly;       (2×1/2= 1 Gs;sp)  
 

   M) fl;bl nghUs; $l;Lj;jhgdk; 
,yq;if xypgug;Gf; $l;Lj;jhgdk; 
ngw;Nwhypaf; $l;Lj;jhgdk; 
,yq;if JiwKf mjpfhu rig   
njq;F mgptpUj;jp rig          (2×1/2= 01 Gs;sp) 
 

2.                          (02 Gs;spfs;) 
 

3. m) nghUl;fs; Nritfis nfhs;tdT nra;J tpw;gid nra;tjd; Clhf cupikkhw;wk;; 
epfOk; nraw;ghL tpahghuk; MFk;.         (02 Gs;sp) 
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   M) kPs; tpw;gid nra;Ak; Nehf;fpy; nghUs; tpw;gid nra;jy;  

ngUe; njhifg; nghUl;fs; tpw;gid nra;ag;gly; 
njupT nra;ag;gl;l rpy tifg; nghUl;fs; kl;LNk tpw;gidf;F itf;fg;gl;bUj;jy;. 
myFf;Fupa tpiy FiwT 
tpahghuf; fopTfis toq;Fjy;.         (2×1/2= 01 Gs;sp) 

4. m) tzpfnkhd;wpd; Nehf;fj;ij jPu;khdpf;fpd;w kw;Wk;  ,e; Nehf;fj;jpid mile;J 
nfhs;tjw;fhd eltbf;iffisj; jPu;khdpf;fpd;w xU nrad;Kiw jpl;lkply; MFk;. 
                  (01 Gs;sp) 

   M) cw;gj;jpg; nghUs;  tpiy 
 ,lk;    Nkk;gLj;jy;        (01 Gs;sp) 

     
tpdh ,y 04 

 
1. m) Nrkpg;Gf; fzf;F, eilKiw itg;G, epiyahd itg;G   (%d;iwAk; Fwpg;gpl 01 Gs;sp) 

M) tiugtu;/ fl;lis ,Lgtu;  
nrYj;Jgtu; /  fl;lisiaiag; ngWgtu;-tq;fp  
gzk; ngWgtu;           (%d;iwAk; Fwpg;gpl 01 Gs;sp) 

2.                       (02 Gs;spfs;) 
3. m) fhNrhiyapy; Kd;Gwj;jpy; Fwpg;gplg;gl;Ls;s ngaiu mNj Kiwapy; fhNrhiyapd;  

 gpd;Gwj;jpy; mtuJ ifnaOj;jpdhy; vOJtJ       (01 Gs;sp) 
M) juTfs; mopTwf;$ba jd;ik 

,yj;jpudpay; NkhrbfSf;F cs;shjy; 
Nkyjpf nrynthd;iw nghWg;Ngw;f Ntz;bapUj;jy; 
midj;J tpw;gidafq;fspYk; nfhLg;gdTfis Nkw;nfhs;s KbahJ 
Nkhrbfisj; jtpu;g;gjw;Fupa ghJfhg;G Kiwfs; gw;wpa mwpTf; FiwT 

             (21/2= 01 Gs;sp) 

4. m) rupahdJ/ nghUj;jkhdJ 
tpiuT 
nryT/ tpuak; 
njspthd jd;ik 
gad;gLj;Jtjd; ,yFj;jd;ik 

tpsq;fpf; nfhs;sf; $baJ/ Gupe;J nfhs;sf; $baJ      (21/2= 01 Gs;sp) 
   M) tpiuthdJ 

gpuahzpfSf;fhd trjpfs; mjpfkhff; fhzg;gly;  

ru;tNjr tpahghuj;jpw;F cjTjy;              (21/2= 01 Gs;sp) 
             (nkhj;jk; 08 Gs;spfs;) 
 

tpdh ,y:- 05 
1. m) tzpfnkhd;Wf;Fk; NtW gpuptpdu;fSf;Fk; ,ilNa eilngWk; tsq;fspd; ifkhw;wk; 

   (01 Gs;sp) 
   M) 1. fle;j fhyf; nfhLf;fy; thq;fy; epfo;T xd;wpd; ngWNgwhf cUthFjy; 
 2. tzpfj;jpdhy; fl;Lg;gLj;jf; $bajhftpUj;jy; 

 3. vjpu;fhyj;jpy; nghUshjhu etd;fs; cl;gha;r;rg;gLjy;;     (21/2= 01 Gs;sp) 
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2. m) Nkyjpf %yjdkply;   tUkhdq;fs; 

gw;Wjy;fs;    nrytpdq;fs;       (41/4= 01 Gs;sp) 
 

   M) & 540000  
           (01 Gs;sp) 
3. m) nrhj;Jf;fs; =   cupik  +     nghWg;G 

1) + 100000  =  +100000 
2) +  40000 = 
-     40000 = 
3) +   30000 =     + 30000 
4) +   15000 =     + 15000                 (02 Gs;spfs;);; 

 
   M) fhRf; fzf;F tuT & 100000 
   %yjdf; fzf;F    & 100000 
 jsghl cgfuzf; fzf;F tuT & 100000 
   fhRf; fzf;F nryT   & 100000 
 tq;fpf;fld; fzf;F tuT  & 30000 
   fhRf; fzf;F  nryT    & 30000 
 nfhs;tdTf; fzf;F tuT & 15000 
   fld;nfhLj;Njhu; fzf;F nryT   &  15000    (02 Gs;spfs;) 
 
4. m) A. tUkhdf; fzf;F 

B. cupikf; fzf;F 
C. nryTf; fzf;F 
D. nrhj;Jf; fzf;F             (02 Gs;spfs;) 
 

       M) nfhs;tdTf; fzf;F tuT & 10000 
   fld;nfhLj;Njhu; fzf;F nryT & 10000 
 njhiyNgrpf; fl;lzf; fzf;F tuT & 2200 
   njhq;fy; fzf;F nryT   & 2200    (02 Gs;spfs;) 
                   (nkhj;jk; 12 Gs;spfs;) 
 
tpdh ,y 06         
1. m) %y Mtzq;fspd; gad;fs; 

1. nfhLf;fy; thq;fy;fSf;Fupa Muk;g Mtzkhf gad;gLj;j Kbjy; 
2. vOj;J %ykhd Mjhukhf gad;gLj;j Kbjy; 
3. Nkyjpf tpguq;fisg; ngw KbAk; 
4. %y VLfspy; gjptjw;F mbg;gilahff; nfhs;s KbAk;   

   (,uz;L tplaq;fSf;F 01 Gs;sp)  
   M) Neuj;ij Nrkpf;f Kbjy; 
 fhyj;ijAk;> ciog;igAk; Nrkpf;f Kbjy; 
 rupahd jd;ik nfhz;L nfhz;L fhzg;gly; 
 ,w;iwg;gLj;jg;gl;l jfty;fis ,yFthf ngw Kbjy; 
           (,uz;L tplaq;fSf;F 01 Gs;sp) 
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khfhzf;fy;tpj; jpizf;fsk;  tzpff;fy;tpAk; fzf;fPLk; 

2.    1.  tq;fpf; fzf;F tuT & 15000 
   tpw;gidf; fzf;F nryT & 15000 
2.   tq;fp fzf;F tuT & 20000 
 ftpjh fzf;F    & 20000     (02 Gs;spfs;) 

3. m) 1. & 1650       2.  & 2000           (02 Gs;spfs;) 
 

   M) nghJ ehl;Fwpg;G (01 Gs;sp) 
 Nkhl;lhu; thfdf; fzf;F tuT & 200000 
   Fkud; fzf;F nryT     & 200000                     (01 Gs;sp) 
3.     nrk;ikahf;fpa tq;fpf; fzf;F 

kPjp te;jJ 01 20000 fhg;GWjp 
kPjp nrd;wJ 

8000 
12000 

20000 20000 
               (02 Gs;spfs;) 
tq;fp fzf;fpzf;ff; $w;W 

tpguk; njhif njhif 
jpUj;jpa tq;fp kPjp 
$l;L:- rku;g;gpf;fg;glhj fhNrhiy 
 
fop:- t#ypf;fg;glhj fhNrhiy 
tq;fpf; $w;wpd;gb tq;fpkPjp 

 
4000 

 
5000 

12000 
4000 
16000 
(5000) 
11000 

           (02 Gs;spfs;) 
             (nkhj;jk; 12 Gs;spfs;) 

 
tpdh ,y 07   

m) Muk;g ,Ug;Gf;fs;    M) mwtplKbahf; fld; fzf;F tuT 
nfhs;tdT      cupa fld;g;Nlhu; fzf;F nryT    

   nfhs;tdTr; nryTfs;                   (01 Gs;sp) 
,Wjp ,Ug;Gfs; (01 Gs;sp)  

M)     
nfhs;tdT ehNsL 

jpfjp gl;bay; 
,y 

tpguk; nkhj;jj; 
njhif 

Ng. g 

09.09.2017 
20.09.2017 

010 
315 

mwptofd; 
md;gofd; 
nfhs;tdT fzf;fpw;F khw;wpaJ 
                   ½ Gs;sp        

5200 
3200 
8400 

 

 
 
½ 
Gs;sp        

 
   tpw;gid ehNsL 
jpfjp gl;bay; 

,y 
tpguk; nkhj;j 

njhif 
Ng. g 

15.09.2017 
25.09.2017 

416 
495 

fkyh 
tpkyh; 
tpw;gidf; fzf;fpw;F khw;wpaJ 
                   ½ Gs;sp        

7200 
4200 
11400 

 

 
 
½ 
Gs;sp        

                (02 Gs;spfs;) 
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tu;\pdp tzpfj;jpd; 
31.12.2017 ,y; Kbtile;j Mz;Lf;fhd ,yhg el;lf; $w;W   ½ Gs;sp 

tpguk; &gh &gh &gh 
tpw;gid   160000 
fop:- tpw;gidf; fpuak;     
01.01.207 ,y; ,Ug;G  2500  
nfhs;tdT  87500  
cl;Rik $yp  2000  
tpw;fj; jahuhf ,Ue;j ruf;fpd; ngWkjp;  92000  
fop:- 31.12.2017 ,WjpapUg;G  ½ (5000)  
tpw;gidf; fpuak;   ½       87000 
nkhj;j ,yhgk;   ½       73000 
ngw;wfopT   7500 
tpepNahfr; nryT   80500 
tpsk;guk; 10500   
nfhLj;j fopT 3000   
mwtpl Kbahf; fld; 5000 18500  
epu;thfr; nryT    
,iwtup ½       4000   
fhzpfl;blj; Nja;T ½     20000   
,ae;jpuj; Nja;T 7500   
epu;thfr; rk;gsk; 16000   
fhg;GWjp 7000 54500  
epjpr; nryT    
tq;fpf;fld; tl;b  ½     5000 5000 78000 
Njwpa ,yhgk; %yjdf; fzf;fpw;F khw;wpaJ     ½   2500 

                    (04 Gs;spfs;) 
tu;\pdp tzpfj;jpd; 

31.12.2017 ,y; cs;sthwhd epjp epiyikf; $w;W ½  

             tpguk;    ½ fpuak; jp.ng. 
Nja;T 

Njwpa 
ngWkjp 

eilKiw my;yhr; nrhj;J    
fhzpfl;blk; 200000 ½  20000 180000 
,ae;jpuk; 75000 ½    7500 67500 
 275000 27500 ½ 247500 
eilKiwr; nrhj;Jf;fs;    
    ,Ug;Gf;fs;  5000  
    fld;gl;Nlhu;  ½  50000  
    ifapYs;s fhR  25000  
    tq;fpapYs;s fhR  25000 105000 
nkhj;jr; nrhj;Jf;fs;   352500 
cupikahz;ik    
   %yjdk;  275000  
   $l;L:- Njwpa ,yhgk;  ½    2500 277500 
eilKiway;yhg; nghWg;G    
   10% tq;fpf; fld;  50000 50000 
eilKiwg;nghWg;G    
   fld;nfhLj;Njhu;  22000  
   ml;LW ,itup  1000  
   ml;LW tq;fpf; fld; tl;b  ½    2000 25000 
nkhj;j cupikahz;ikAk;> nghWg;Gk;   352500 
    

                                      (04 Gs;spfs;) 


